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6.3 Solve Linear Systems Using Elimination

The idea behind this method
is that we want to

ELIMINATE

one of the variables.

When do terms cancel??

When their coefficients are opposites!

Solve each linear system.
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Solve each linear system.

J
3. 4m-§b= 2 4. 5 +2h=-4
4+=3m-+2n =412 —50<43h =419
o= ~
w =g Bk
m=2 (2,?»> . 2(2')% )
32 )+ 2n= 12 grels /==
Z/ +n = 2 (2,2) 59 tz/‘:g
In=¢ 59 =:10
7 2 ‘% 5
n=3 9=-Z
Solve each linear system.
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Write and solve a system of equations.

7. The[s’frp_pf two numbers is 42.
Their[difféldfice)is 6. st ¥ = x

Find the numbers. Ind ¥ =\
%+ %/ qz———mw 42
— —24 -24
: 1
T

Ao fzq 8. 18 |

Write and solve a system of equations.
X=Roﬂcr's A9
8. Roger is older than Ken. y= ¥en's age
The difference of their ages is 12

and the sum of their ages is 50.

Find the age of each.
x — =12
X + ) =50 —> 3| + y= 50
Z)( ) :62 ‘@) _6'
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